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Sabina Handa has been working for the past four years as
Deputy Marketing Manager in an organization after
completing her post graduate diploma in marketing
management with 65 per cent marks. She has secured 45
per cent marks in both selection examination and
selection interview. She has also secured 58 per cent
marks in B.Com.

Manoj Malhotra has secured 65 per cent marks in B.Sc.
and 60 per cent marks in post graduate degree in
Marketing Management. He has also secured 50 per cent
marks in both selection examination and selection
interview. He has been working in the marketing division
of an organization for the past six years after completing
his post graduation in marketing.

Varsha Akolkar has secured 59 per cent marks in B.A. She
has secured 42 per cent marks in the selection interview
and 48 per cent marks in the selection examination. She
has been working in the Marketing division of an
organization for the past seven years after completing her
post graduation in marketing management with 57 per cent
marks.

Utpal Goswami has been working in the marketing division
of an organization for the past five years after completing
his post graduate diploma in Marketing Management with
65 per cent marks. He is a first class science graduate with
60 per cent marks. He has secured 45 per cent marks in the
selection examination and 40 per cent marks in the
selection interview.,

Anindita Ghosh has been working for the past eight years
in an organization after completing her post graduate
degree in Marketing Management with 70 per cent marks.
She has secured 56 per cent marks in B.A. She has also
secured 50 per cent marks in the selection examination
and 45 per cent marks in the selection interview.

Samir Phukan has been working in the marketing division
of an organization for the past five years after completing
his post graduate diploma in management with 65 per
cent marks. He has secured 60 per cent marks in B.Com.
He has also secured 50 per cent marks in both selection
examination and selection interview.

Nimisha Patil has secured 59 per cent marks in B.Com.
She has also secured 50 per cent marks in both selection
examination and the selection interview. She has been
working as Deputy Marketing Manager in an
organization for the past three years after completing her
post graduate degree in Marketing Management with 63
per cent marks,

Sadashiv Ghatge has secured 60 per cent marks in B.Com.
He has been working for the past five years in the
marketing division of an organization after completing his
post graduate degree in Marketing Management with 68
per cent marks, He has secured 35 per cent marks in the
selection interview and 62 per cent marks in the selection
examination,
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§ Directions (Q. 71-75) In each question below is given a

. statement foﬂon:ed by two assumptions numbered 1 and

Il. An assumption is something supposed or taken for

§ granted. You have to consider the statement and the

. following assumptions and decide which of the

é assumptions is implicit in the statement.

Give answer (1) if only assumption I is implicit.

Give answer (2) if only assumption II is implicit.

Give answer (3) if either assumption I or assumption II is

implicit.

Give answer (4) if neither assumption I nor assumption [I

is implicit.

Give answer (5) if both assumptions I and I are implicit.

Statement The largest domestic airlines corporation has

announced new summer schedules in which more

number of flights in trunk routes are introduced.

Assumptions

L. More number of passengers may travel by this airlines
corporation during summer months in trunk routes,

IL. Other airlines companies may also increase the
number of flights in all the sectors.

Statement The Chairman of the company decided to
hold a grand function to celebrate silver jubilee during the
next weekend and invited a large number of guests.
Assumptions
L. The company officials may be able to make all the

necessary preparations for the silver jubilee
celebrati

www . educationobserver hfaﬂﬁf;f;:'ﬁ;é‘lghests invited by the Chairman may

attend the function.

Statement The largest computer manufacturing

company slashed the prices of most of the desktop models

by about 15 per cent with immediate effect.

Assumptions

L. The company may incur heavy losses due to reduction
in prices of the desktop.

Il. The sales of desktop manufactured by the company
increase substantially in the near future.

Statement The school authority decided to rent out the

school premises during weekends and holidays for

organizing various functions to augment its resources to

meet the growing needs of the school.

Assumptions

L. The parents of the school students may protest against
the decision of the school au thority.

II. There may not be enough demand for hiring the school
premises for organizing functions.

Statement The local civic body has urged all the

residents to voluntarily reduce consumption of potable

water by about 30 per cent to tide over the water crisis.

Assumptions

I. Many residents may reduce consumption of potable
water,

II. Many activists may welcome the civic body’s move
and spread awareness among residents.
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Directions (Q. 76-80) In each question below is given
a statement followed by two courses of action numbered 1

. and 1L A course of action is a step or administrative

| decision to be taken for improvement, follow-up or further
action in regard to the problem, policy etc. On the basis of
the information given in the statement, you have to
assume everything in the statement to be true, then decide
which of the suggested courses of action logically follow(s)

. for pursuing.

Give answer (1) if only course of action I follows.

Give answer (2) if only course of action II follows.

Give answer (3) if either course of action I or IT follows,

Give answer (4) if neither course of action I nor II follows.

Give answer (5) if both courses of action I and II follow,

Statement There have been sporadic cases of stone

throwing and damaging vehicles in the locality during the

day following altercation between two local youth clubs

last night.

Courses of action

L. The local police administration should arrest all those
who are caught committing these acts,

II. The local police administration should call a meeting
of office bearers of both the clubs of the locality to
bring the situation under control.

Statement A huge truck overturned on the middle of the

main road and blocked most part of the road Causiﬂﬁ él 1

huge traffic jam. wyw . educatio

Courses of action

L. The traffic department should immediately deploy its
personnel to divert traffic through other roads.

I. The traffic department should immediately send men
and equipment to move the truck and clear the road.

Statement Some workers of the company making

diamond jewellery were caught while there were leaving

the premises as they were trying to smuggle small pieces
of diamonds hidden in their purses.

Courses of action

I. The management of the company should immediately
put on hold all activities in the premises till a fool proof
security system is in place.

II. The belongings of all the workers should thoroughly be
searched before they leave the premises of the
company.

Statement A huge tidal wave swept away many fishing

boats and hutments of the fishermen living along the

coastline,

Courses of action

L. The fishermen should henceforth be restrained from
constructing their huts along the coast line.

II. The local administration should send a team of
officials to assess the extent of damage and suggest
remedial measures.

Statement A large number of invitees who attended the

‘marriage function fell ill due to food poisoning and were

rushed to various hospitals located in the area.

81.
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Courses of action

L. The government should be such marriage functions till
further notice.

II. The local hospitals should be advised by the
government to provide best services to the affected
people.

Directions (Q. 81-85) Below is given a passage
Jollowed by several possible inferences which can be
drawn from the facts stated in the passage. You have to
examine each inference separately in the context of the
passage and decide upon its degree of truth or falsity.

T

Mark answer (1) if the inference is ‘definitely true’, je, it
properly follows from the statement of facts given,
Mark answer (2) if the inference is ‘probably true’ though
not ‘definitely true’ in the light of the facts given.
Mark answer (3) if the ‘data are inadequate’, je, from the
facts given you cannot say whether the inference is likely
to be true or false.
Mark answer (4) if the inference is ‘probably false’, though
not ‘definitely false’ in the light of the facts given.
Mark answer (5) if the inference is ‘definitely false’, je, it
cannot possibly be drawn from the facts given or it
contradicts the given facts.
Asia has become the growth centre of the world economy
TR - Withifl the region India and South Korea
are the third and fourth largest economies after China and
Japan . Though the Asian growth stories mainly revolve
around India and China, South Korea has remained a key
player for these countries as one of their major trading and
investment partners. South Korea adopted outward
oriented economic policies with the beginning of its first
five year economic development plan in 1962. Which
resulted in high growth and the integration of the Korean
economy with the rest of the world. Subsequently high and
consistent economics growth made South Korea one of the
high-income economic in Asia. Korea is still growing at a
faster rate compared to other developed economies. India
on the other hand, adopted an import substitution policy
since its independence until the early 1990s. Since then
India has introduced wide-ranging economic policy
reforms and is moving towards market-driven economy.
This has resulted in consistent high economic growth over
the last one-and- a half decade,

Only Korean economy is considered as robust by the
international community.

Japan’s economic growth over the last decade is the
highest in Asia.

The Korean economy is traditionally different than the
Indian economy in its approach.

The economic growth of India prior to 1990s was much
higher than the present growth rate.

India and China together are considered the driving force
of Asian economy.
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Directions (Q. 86-100) In each of the questions given 91, Problem Figures

below which one of the five answer figures should come v S = 7 o
after the problem figures, if the sequence were continued ? B -
86. Problem Figures 2 s'Ala -z =|s onp|a 8 OlA *x C
S o A Cc O
M T W
O G o O (]
Answer Figures C A x|l0oo O|lc A %x|[C *x A|JC A X
a A O a o}
UM UIT HTL MTT TTM e (2) (3) (4) (5)
92. Problem Figures

1 2 3 4 5
(1) (2) (3) (4) (5) 75 ok e I =
87. Problem Figures CA*_ I:Io' o2 o e
cu=zlaxvs|saxv|loeco|ooeo " 2% & A 2°
sAsvivucz=|eooo|lasSvx|CZ=U 2
ecoo|joneno|lcu=z|zcu=|saxV Answer Figures
s C B - [
Answer Figures D 2 *E! AEl _x
" = * €
zcuo|zcu=|zou=|aoDOe zcu=\ ¥ O it A
= o o 0
oo=e|lODO0e|CODe|ASYVX|OOD® %) @) @) @ 5
VSAk|SAXxV|VS Ax|Z C U= VSAX
m 2) @ " 1a) E&ﬂqgf i onobser%eProplem Figures, ,
88. Problem Figures v TR A (@56 Viaallrokifak Qi e
B P gy EIE PR Y R i ol el S s g
A * S * )
4zpl|/oboz|/boa|l/aDO|APS Answer Figures
Answer Figures vaasaiilodo defeic a0 Olou0 e
D N N No N a0 ecls = alo = vja = c|s A O
* - Z *
saP|/sap|/SaP|/SPa|/SAP (1) (2) () (4) (5)
(1) (2) (3) (4) (5) 94. Problem Figures
89. Problem Figures z *|0 =|z ol|S =|z s
v v Vivv [vivvi [vivvivy g . =4z  Alp =12 _gh, a8
— —Fr {__}f | Al S uju * | A mm 0
c co CocCcC cocco coccoces 0 Ulm *|S E|U olA u
Answer Figures
Answer Figures ks zlA Ul U|* =|A =
VIVVIVY | VIVVIVV | Vivviv V] vivvviv | VIVVIVV & s|z s|m s|m olz 0
vi 4 s b B 5 Ul* =2 = 7. Rl V] [ S
SSCCGCC gCOCCOC %8(10000 %gCCICCO ggOCCO " AR (o)} 4 0|2 S| H S
(1) (2) (3) (4) (5)
(1) (2) (3) (4) (5) )
90. Problem Figures 95, Problem Figures
s = x|? s =|o Aalz OAls = ¢
oo 1|t xolot x[xoo0 % B ROUSE|OBSDE|EDSBO|DPBVO|OVBPD
A ouleasls s T =8la 0.z
Answer Figures Answer Figures
Z ot ANPE 8 HE s =TPTS = S
ao0x|lo?taletole?olo xig WOXBD | vWPXD|VWXPD|VOPXD|VWPBD
* - s|lxano|xaolaxojxann

(1) (2) (3) (4) (5) (1) (2) (3) (4) (5)
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Problem Figures Answer Figures :
*Zos|lumD=|mD=A|lzcuolcuos N_ olc N|N O|N OfN o
iz 0_ *_ *_ =
Die &0 codfuvid wfsl - slz: w U*Dou-*uu-uou—Anu*Aa
A
=ANMU|SCZ%x|OSCcz|AxDm =A%D c AEID D|C ‘DC o|jc DI:I
- (1) (2) (3) (4) (5)
Answer Figures
99. Problem Figures
DEA=|*Z=A(D*xZS|Dxz-= DUz-=
% . ule Glos alo Ale A g & 2 ' i
By 0f =88 = % |o O =]l&.0 §|0 = O
SOZc|osmU|=mUC|SEBUC|SE%xC : o - i 4
(1) (2) (3) (4) (5)
Answer Figures
Problem Figures
= 0 = 0 =
S O%|S = |0 O %= 5 % * O S
(o] (o] S a O
(1) (2) (3) (4) (5)
Answer Figures 100. Problem Figures
O (*xalv |Joul= |ax|o |=v|[o [xa
§_q h:,, E § />|:4 C= * A N= A% v =
v e o) u c
oSl 76 = v] T U
(1) (2) (3) (4) (5) Answer Figures
Problem Figures ¢ [Oojlc [Dojo [=v|o |volc Joo
* A * A A % * A * =
= 0| A =N uf= Nfo ]
P * A Ny Y ) v u u v
A [m] NlU D Bl= c O]0 D U|N ‘U 1 | v = u = (m] c = u A
u "olo B0 ol|mwiledducBd ionobssrveT grom 3) (@) (5)
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